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LINEAR PROGRAMMING [APPENDIX-2]

1If 22 +y > 10,z + 2y > 10, then the lesat value

of F=x+y is

A.10/3

B.20/3
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C.10

D. 20

Answer: B

o Watch Video Solution

2. If  >0,y>0,2x +y <10, 2 + 2y > 10, then
the minimum value of F=x+y is

A5

B. 10

C.20/3



https://dl.doubtnut.com/l/_mAjhmPIteVwN
https://dl.doubtnut.com/l/_N0L6ybSIrKRK

D.10/3

Answer: A

o View Text Solution

3.1f x>0,y >0,2z + 2y < 10, x + 2y < 10, then

the greatest value of F=x+y is

A5

B.20/3

C.5/2

D. 15



https://dl.doubtnut.com/l/_N0L6ybSIrKRK
https://dl.doubtnut.com/l/_WaUwXvPvMLlb

Answer: B

o View Text Solution

4, If 22 +y <8, y< 4,z <3,z >0,y >0, then

the maximum value of f=2x+y is

A4

B.8

C.12

D. 16



https://dl.doubtnut.com/l/_WaUwXvPvMLlb
https://dl.doubtnut.com/l/_k6MdW4Ad8YtM
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5fx +y <50,3z +y <90,z > 0,y > 0 then the

maximum value of f=4x+y is

A.120

B. 60

C. 100

D. 40

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_k6MdW4Ad8YtM
https://dl.doubtnut.com/l/_twE2JdDWM9O1

6. If 8¢ + by < 40, 5x + 4y < 40,z > 0,y > 0 then

the maximum value of f=3x+2y is

A 11

B. 16

C.18

D. 24

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_WMwdwcDr3rI8

7.1f 8¢ + by < 40,4 + 3y > 12,z > 0,y > 0 then

the maximum value of f=3x+2y is

A5

B.12

C.24

D. 25

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_op51gScP4IuR

8.If Tx +4y < 28,2y < 7, x > Othen the maximum

value of f=4x-2y is

A. 16

B. 28

C.42

D. 56

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_AHL4P6MUXALz

O0.If 2z +3y < 12,3z +y < 12,2 > 0,y > 0 then

the maximum value of f=5x+7y is

A.6

B.12

C.36

D. 204/7

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_zUNIsg9tTdXx

10.1fz>0,y>0,2<z+y<82+y<10 then

the maximum value of F=5x+7y is

A 14

B. 25

C.52

D. 56

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_GdsRE0ImHzW0

M If 2¢+y>10,x +2y > 10,z > 0,y > 0 then
the minimum value of f=x+y is

A2

B.5

C.10

D.20/3

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_yUPgNX2q12u2

.fz+y>6,2x+y>8 x>0,y >0 then the

minimum value of f=x+y is

A.6

B.8

C.14

D. 48

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_xYE7QHLQPn2y

13.
2t —y>2,x —2y< 2,z +y<5x>0,y>0
then the minimum value of f=x-y is

A1l

B.2

C.5

D.—1/3

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_Cf8Jv5xoK7P4

U ifz+y>1l,z>y,0<x<1,y>0 then the

minimum value of f=3x+2y is

Al

B. 2

C.25

D.3

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_CtwIZQABPTTT

15. If

z +y < 800, 2x +y < 1000,0 < x <400,0 <y < 700

then the minimum value of f=4x+2y is

A. 1000

B. 1600

C. 400

D. 8000

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_Nqj7Ylp0hYTN

16. If ¢ + 2y > 10,3x +4y < 24,z > 0,y > 0 then

the minimum value of f=200x+500y is

A. 2300

B. 2500

C. 2700

D. 3000

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ipB5IMd1YzEf

17. If
z>0,y>0,2xr+y>0,z4+ 2y > 10,z + y < 10,
then the minimum value of f=x-y is

A5

B.10

C.5/2

D.10/3

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_eEW9QjM3huY6

18.Ifx>0,y>0,z+y <13z +y >1 then the
minimum value of f=2x+3y is

A2

B.3

C.'4//3

D.1/3

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_8OZOapmFJk2i

19 If x+3y<60,z+y>10,z <y, z>0,y>0

then the minimum value of f=2x+9y is

A. 60

B. 90

C.120

D. 180

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_HWZdpMjKhfea

20.If x > 0,y > 0,2z + 3y < 12,3z + y < 12, then
the minimum value of f=5x+7y is

A.O

B.204 /7

C.84

D.12

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_RrxyRc8r1vSI

2. If >0,y > 0,2z 4+ 3y <10 and = + 2y > 10
then the minimum value of f=2x+3y is

A.10/3

B.20/3

C.20

D.50/3

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_agZ76QHpbrLq

22. If £>0,y>0,2z +y <10 and = 4+ 2y > 10

then the minimum value of f=x+y is

A4

B.5

C.0

D. 2

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_8jZbV3BYHdvs

23. Given
x>0,2x+y>10,z 4+ 2y < 10 and = + y < 10,
then the maximum value of F=(x-y) is

A.20/3

B.10

C.6

D.5

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_o5ZOpVAG8Bq9

24, If £>20,y>0,2x <z —+y <8 2x+y <10,

then the minimum value of F=5x+7y is

A.10

B.14

C.6

D.5

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_MosnJJOCGUVh

25. Which point maximise the objective function

T 9y
— =9
120"

P =
A. (0,0)
B. (0,150)

C.-90150

D. (160,0)

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_H1HQulN818at

26. Which of the following maximize the objective

function P=x/2+y/2 is ?

A.(3,0)

B. (2,0)

C.(3,2)

D. (2,3)

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_PDTEUADiH46X

27. Which of the following points maximise the

objective function P=x/2+y/3?

A. (4,0)

B. (0,6)

C.(2,3)

D. (3,2)

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vCGuBPoQVW62

28. Which of the following is minimize the objective

function P=2x/5+3x/7 is

A. (5,0)

B. (0,5)

C.(5/2,7/3)

D. (2/5,3/7)

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_JqPyJSzV3pbv

29. The vertices of a polygon in a feassible region are

(2,-3), (3,3) and (-4,2), The maximimum value of the

objective function F=2x+3y is

A.10

B. 12

C.15

D. 25

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_b9NjuwSfUfif

30. A shopkeeper sells not more than 15 bush shirts of
two colours. At least twice as many white ones are
sold as green ones. If the profit on each of the white
be Rs. 5 and that of green be Rs. 7.50. The numbers of

green shirts to be sold to get maximum profit is

A5
B.7
C.10

D.15

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_3dalZvQfcHvD

31. In the above problem, the number of white shirts

to be sold to get maximum profit is

A5

B.7

C.10

D.15

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_3dalZvQfcHvD
https://dl.doubtnut.com/l/_cl8cKeGPRRIo

32. A furniture dealer deals only two items, tables and
chairs. He has Rs. 500 to invest and a storage capacity
for 60 pieces. A table costs him Rs. 250 and chair Rs.
50. He can sell a table for a profit of Rs. 50 and a chair
for a profit of Rs. 15. The number of tables and chairs
respectively to get maximum profit are

A. 10,50

B. 20,50

C. 10,20

D. 20,60

Answer: A



https://dl.doubtnut.com/l/_NSDOYNwHbV70
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33. A manufacturer has 75kg of cashew nuts and
120kg of peanuts. These are mixed and packed into 1
kg packages as follows. A low grade mixture that
containing 250gm of cashew and 750gms of peanuts,
a high grade mixture that contains 500 gms of
cashew and 500 gms of peanuts. On the low grade
mixture the manufacturer gets a profit of 25 paise per
package, while on the high grade the profit is 45 paise
per package. How many packages of each mixture

should be made to obtain a maximum profit?

A. 90105


https://dl.doubtnut.com/l/_NSDOYNwHbV70
https://dl.doubtnut.com/l/_Fo1KhXYANvzK

B. 90160

C. 105150

D. 90150

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_Fo1KhXYANvzK

